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Linear Inequalities Worksheet — 1
1. If the replacement set = {-8, -6, -4, -2, 0, 1, 2}, then find the solution of
i) -6<x<1
i) 0<sx<3
2. Represent the solution of the following inequality graphically.
i)x<5,xeN
ii)x<8,xeW

3. If the replacement set = {-8, -6, -4, -2, 0, 2, 4, 6, 8}, then represent the solution set of the
inequality -6 < x < 4 graphically.

4. Find the solution set of the inequality x < 9, if the replacement set is
i) {1l 2I 3[ 4[ 5I 6[ 7[ 8I 9[ 10}
ii){-1,0,1,2,5, 8}

5. Solve: -15<4m -7,x €l
6. Solve: %S 4,yeN
7.Solve: -3(p+4)>6,Pel

8. Solve:§+ 6<10,peW
9. SoIve:l-X>-3,yE N
2 2

10. SoIve:§-£< -3,zeN

2 2
11. Solve:3-5>-1, x€N

2 2
12.Solve: 4(y-2)<3(y-1),ye W

13. If the replacement set is {-3, -2, -1, 0, 1, 2, 3}, solve the inequation ? < 2 and write

solution set.
14.1f Y € {even integer}, represent the solution set of the inequation -7 <y < 7is

15. if the replacement set is {-5, -4, -3, -1, 0, 1, 3}, then the solution set of -5 <x <5 is

16. Solve the inequality: —%s%- g <2,xel

3y+2
17.Solve:3p+1<19,peN 18. SoIve:T +1<4,yeW
19. Solve: 5> 4x-15,x € N 20. Solve: -8 <2x < 16,x €|
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